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1. Which among the following is not a feature

of Directive Principles of State Policy

(DPSP)?

a) It is the duty of the State to apply these
principles in making laws.

b) They help the courts in examining and
determining the constitutional validity of a
law.

c) They operate as limitations on the tyranny
of the executive and arbitrary laws of the
legislature.

d) All statements (a), (b) and (c) are features
of DPSP.

Consider the following statements regarding

the National Commission of Scheduled
Tribes (NCST):
1. It was created through the 89th

Constitutional Amendment Act of 2003.

2. The conditions of service and tenure of the
Chairperson and members are determined
by the President.

3. The Commission, while inquiring into any
complaint, has all the powers of a civil
court.

How many statements given above are correct?

a) Only one

b) Only two

c) All three

d) None of the above

. A new state can be formed by uniting two or

more states through a bill passed by:

a) A simple majority in Parliament

b) A simple majority in state assemblies of
both the states

¢) A Special majority in the parliament and
ratification by half of the states

d) Presidential resolution

How many of the following Supreme Court
cases are related to disputes/conflicts
between Fundamental Rights and Directive
Principles of State Policy?

1. IR Coehlo Case, 2007

2. Golaknath case, 1967

3. Maneka Gandhi case, 1980

4. Minerva Mill Case, 1980

Select the correct answer using the code given
below.

a) Only two

b) Only three

c) All four

d) None of the above
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5. Consider the following statements with

reference  to  the

reorganization of states:

1. The States Reorganisation Commission
accepted the theory of ‘one language one

post-independence

state’.

2. Andhra Pradesh was the first state created
after the acceptance of the recommend
dations of the state reorganization
committee.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

. With respect to the writ
jurisdiction,consider the following
statements:

1. The writ of habeas corpus cannot be issued
against the private individuals.

2. The writ of prohibition is available only
against the judicial bodies.

3. The writ of gquo-warranto can be sought
even by a non-aggrieved person.

How many statements given above are correct?

a) Only one

b) Only two

c) All three

d) None of the above

. Which of the following gives effect to the

objective of the Preamble to secure for all its
citizen equality, liberty and justice?

a) Fundamental Rights

b) Directive Principles of State Policy

¢) Fundamental Duties

d) Power of Judicial Review
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10.

In order to ensure the independent and
impartial functioning of the Election
Commission of India (ECI), which of the
following provisions was/were incorporated
in the Constitution of India?

1. The Consitution has debarred the retiring
election commissioners from any further
appointment by the government.

2. The Chief Election Commissioner can be
removed in the same manner and on the
same grounds as a judge of the Supreme
Court.

3. The Constitution has specified the term of
all the members of ECI.

Select the correct answer using the code given

below.

a) 2 only

b) 1 and 3 only

c) 2 and 3 only

d)1,2and3

Consider the following Statement related to

Attorney General of India:

1. Has the right of an audience in all courts in
India.

2. Is debarred from private legal practice.

3. Has the right to speak and vote in both
houses of Parliament.

4. Enjoys all privileges and immunities that
are available to a member of Parliament.
Which of the statements given above are

correct?

a) 2and 3 only
b) 1 and 4 only
c) 1, 2and 3 only
d)1,2,3and4

Consider the following pairs:

Constitutional Adopted
Provision from

1. |'Fundamental Rights France

2. | Directive Principles Ireland
of State Policy

3. | Residual Powers with Canada
center

4. | Parliamentary Form Britain
of Government

How many of the above pairs are correctly
matched?

a) Only one

b) Only two

c) Only three

d) All four
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Who among the following determines the
gualification and the manner of selection of
members of the Finance Commission?

a) Union Cabinet

b) Parliament

c) Supreme Court of India

d) President

The Fundamental Duties were added to
Indian constitution on the recommendation
of which of the following commissions/
committees?

a) Sarkaria Commission

b) Swaran Singh committee

c) L M Singhvi committee

d) Punchhi Commission

Consider the following statements regarding

the acquisition of citizenship in India:

1. Currently, a person born outside India
automatically becomes an Indian citizen by
descent if one of the parents is an Indian
citizen.

2. A person applying for citizenship by
naturalization should have adequate
knowledge of any of the languages spoken
in India.

Which of the statements given above is/are

correct?

a) 1 only

b) Both 1 and 2

c¢) Both 1 nor 2

d) Neither 1 nor 2

Consider the following statements regarding

the Pitts India Act of 1784:

1. It allowed the Court of Directors of East
India Company. to. manage the political
affairs in India.

2. The Company's territories in India were for
the first time called the ‘British possessions
in India'.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c¢) Both 1 and 2

d) Neither 1 nor 2
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The chairperson and members of the
National Human Rights Commission
(NHRC) are appointed by the president on
the recommendations of a selection
committee. Which of the following are
members of the selection committee?

1. Chairman of Rajya Sabha

2. Leader ofOpposition in Lok Sabha

3. Union Home Minister

4. Prime Minister

Select the correct answer using the code given
below.

a) 1 and 4 only

b) 2, 3 and 4 only

c) 1,2 and 3 only

d)1,2,3and 4

Which of the following can be considered as

the main reason for the Indian constitution

to be called a living document?

a) Itis rigid in nature and difficult to change.

b) It adopted several provisions of leading
democracies of the world.

c) It can be amended and evolved with

changing situations.

Provision of Right

remedies.

d) to constitutional

Consider the following statements regarding

the amendment of the Indian Constitution:

1. A Dbill seeking amendment of the
Constitution does not require the prior
permission of the President.

2. All Constitutional Amendment bills must
be ratified by half of the states.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1and 2

d ) Neither 1 nor 2
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Consider the following statements regarding

the Constituent Assembly of India:

1. The idea of a Constituent Assembly for
India was put forward for the first time by
M. N. Roy.

2. It was formed under the scheme formulated
by the Wavell Plan in 1945.

3. Its members were elected indirectly by the
Central Legislative Council.

How many of the above statements are correct?

a) Only one

b) Only two

c) All three

d) Noneof the above

Consider the following pairs:

Committees of Chairman
Constituent
Assembly
1. | States Committee Jawaharlal
Nehru
2. | Rules of Procedure Vallabhbhai
Committee Patel
3. | Steering Committee Rajendra
Prasad

Which of the pairs given above is/are correctly
matched?

a) 2 only

b) 1 and 2 only

c) 1 and 3 only

d)1,2and 3

Consider the following statements:
Statement-1: India can acquire a foreign
territory or it can cede a part of its territory in
favor of a foreign state.

Statement-11: Sovereign in the Preamble to
the Indian Constitution means ‘there is no
authority above India and is free to conduct its
affair’.

Which one of the following is correct in
respect of the above statements?

a) Both Statement-l1 and Statement-Il are
correct and Statement-1l is the correct
explanation for Statement-|

Both Statement-l and Statement-11 are
correct and Statement-11 is not the correct
explanation for Statement-|

b)

c) Statement-l1 is correct Statement-ll is
incorrect
d) Statement-l incorrect but Statement-11 is

correct
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The Government of India, with the approval
of the President of India, has constituted the
Sixteenth Finance Commission recently. It
was set up under which of the following
article of the Constitution of India?

a) Article 150

b) Article 370

c) Article 280

d) Article 110

With reference to Financial Emergency,

consider the following statements:

1. Once approved by the Parliament, the
Financial Emergency continues indefinitely
till it is revoked.

2. The satisfaction of the President in
declaring a Financial Emergency is not
questionable in any court.

3. Resolution to revoke Financial Emergency

requires approval of the Lok Sabha by a
simple majority.

4. No Financial Emergency has been declared
so far.

Which of the statements given above are

correct?

a) 1 and 4 only
b) 2 and 3 only
c) 1,3 and 4 only
d) 1,2 and 3 only

How many of the following elements form a

part of the of the

Constitution’ as laid down by various court

judgments?

1. Secular character of the Constitution

2. Separation of powers between the legislature
and the executive

3. Effective access to justice

4. Writ jurisdiction of the Supreme court

5. Socialist state

Select the correct answer using the code given

below.

a) Only two

b) Only three

c¢) Only four
d) All five

‘Basic Structure
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With reference to Article 12 of the
Constitution, the term ‘State’ includes how
many of the following?

1. Parliament and legislature of states.

2. Union executive and executive of the state
governments.

3. Municipalities and Panchayats

4. Authorities like LIC and ONGC.

Select the correct answer using the code given

below.

a) Only one

b) Only two

c) Only three

d) All four

Consider the following statements:
1. The President of India is also the head of

the government.

2. Both the Supreme Court and High Courts
can adjudicate disputes between States and
the Center.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

With reference to the Parliamentary
Privileges to the Member of the Parliament
(MP), consider the following statements:

1. Article 105 in the Indian Constitution
explicitly mentions only two kinds of
privileges.

2. The Code of Civil Procedure, 1908, grants
freedom from arrest and detention of
members under a civil process.

Which of the statements given above is/are
correct?

a) 1 only

b) 2 only

c¢) Both 1 and 2

d) Neither 1 nor 2
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27.

28.

29.

With reference to the Model Code of
Conduct (MCC), consider the following
statements:

1. These are a set of statutory norms laid
under the Representation of the People Act,
1951.

2. The MCC is operational from the date the
election schedule is announced until the last
day of polling.

3. Certain provisions of MCC can be enforced
by invoking certain  corresponding
provisions in other statutes.

Which of the statements given above is/are

correct?

a) 1 and 2 only

b) 3 only

c) 2 and 3 only

d)1,2and 3

Which among the following are the key
functions performed by the Supreme court
of India?

1. Judicial Review

2. Constitutional Interpretation

3. Advisory Jurisdiction

4. Original Jurisdiction

Select the correct answer using the code given
below:

a) 1 and 2 only

b) 1, 2 and 4 only

¢) 1 and 3 only

d) 1,2, 3and 4

With reference to the ‘Central Bureau of
Investigation (CBI)’, consider the following
statements:

1. It was established by the Special Police
Establishment (SPE) of 1946.

2. It is the nodal police agency in India that
coordinates investigations on behalf of
Interpol member countries.

3. CBI can suo-moto take up investigation of
offences only in the Union Territories.

How many of the statements given above are

correct?

a) Only one

b) Only two

c) All three

d) None of the above
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30.

31.

32.

Which of the following statements about
Contempt of Court in India is/are correct?
1. Civil contempt refers to the willful

disobedience of a court order or breach of
an undertaking given to a court.
2. Criminal contempt includes any act that
scandalizes the court or lowers its authority.
3. The punishment for contempt of court can
only include imprisonment and cannot
involve a fine.

Select the correct answer using the code given
below:
a) 1 and 2 only

b) 1 and 3 only

c) 2 and 3 only
d)1,2,and 3
With reference to the Parliamentary
Standing Committees, consider  the

following statements:
1. It aims to provide detailed scrutiny of bills,
budgets and government actions.

2. Members are appointed to Standing
Committees based on seniority in
Parliament.

3. They allow for more collaborative and less
politically charged discussions compared to
the full Parliament sessions.

4, They are permanent and constituted every
year or periodically.

Which of the statements given above are

correct?

a)1,2and 3 only

b) 1 and 3 only

c) 1,3 and 4 only

d) 1, 2 and 4 only

Consider the following statements regarding

the Law Commission of India:

1. Itis a statutory body, established by an Act
of Parliament.

2. It serves as an advisory body to Ministry of
Law and Justice.

3. ltis reconstituted every five years.

How many of the statements given above are

correct?

a) Only one

b) Only two

c) All three

d) None of the above
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33.

34.

35.

Consider the following statements:

1. The °‘creamy layer’ refers to the more
affluent members within a reserved
category who may not need the benefits of
reservation.

2. According to Dr. Ambedkar, economic
disparities is the primary source of graded
inequality in India.

3. The Mahad satyagraha was led by Dr. B.R.
AmbedkKar.

How many of the statements given above are

correct?

a) Only one

b) Only two

c) All three

d) None of the above

Consider the following statements regarding
the Public Accounts Committee (PAC):
1. It is composed of 15 members from Lok

Sabha and 7 from Rajya Sabha.
2. It reviews the performance of regulatory
bodies established by Acts of Parliament.

3. Ministers can be members of PAC.

How many of the statements given above are
correct?

a) Only one

b) Only two

c) All three

d) None of the above

Consider the following statements:
1. The Indian Constitution declares Hindi in

the Devanagari script as the official
language of the Union of India.

2. The Indian Constitution mandates the
Union government to promote the spread of
Hindi language.

3. The Official Language Act of 1963 holds
government officials accountable for not
using Hindi in official communication.

Which of the statements given above are

correct?

a) 1 and 2 only

b) 2 and 3 only

¢) 1 and 3 only
d)1,2and 3
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36.

37.

38.

With reference to the Central Information
Commission (CIC), consider the following
statements:

1. Itis a statutory body.

2. The Chief Information Commissioner and
Information Commissioners serve for a
term of five years or until they reach the
age of 65, whichever is earlier.

3. The Chief Justice of India is a part of the
committee that recommends appointments
to the CIC.

Which of the statement(s) given above is/are

correct?

a) 1 and 2 only

b) 1 only

c) 2 and 3 only

d) 2 only

The objective of Operation Chakra-II
launched by the Central Bureau of
Investigation (CBI) is to:

a) Address domestic tax evasion and financial

irregularities within Indian companies.
Combat transnationally organized cyber-
enabled financial crimes within India.
Monitor and regulate cryptocurrency
exchanges to prevent illegal transactions.
Enhance cybersecurity infrastructure for
government institutions to protect against
hacking attempts.

b)

c)

d)

Consider the following statements:

1. Currently, there are no specific
constitutional provisions in India that allow
for holding simultaneous elections for the
Lok Sabha and State Legislative
Assemblies.

2. Simultaneous - elections would strengthen
federalism by giving more power to states.

3. The Election Commission is a permanent
commission which draws all its powers
from the Constitution.

How many of the statements given above are

correct?

a) Only one

b) Only two

c) All three

d) None of the above
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40.

41.

Consider the following statements:

1. Part XVIII of the Indian Constitution deals
with the Emergency provisions.

2. The Seventh Schedule to the Indian
Constitution distributes the power between
the Union and States.

3. Article 355 allows the President to impose
President's Rule if a state government fails
to function constitutionally.

Which of the statement(s) given above is/are

correct?

a) 1 only

b) 2 only

c) L and 2 only

d) 2 and 3 only

With reference to the Comptroller and
Auditor General (CAG) of India, consider
the following statements:

1. The primary role of the CAG is to audit the
accounts of the Union and state
governments and report any discrepancies
to the appropriate authorities.

2. The CAG’s tenure is renewable upon the
recommendation of the Prime Minister.

3. The Public Accounts Committee (PAC)
scrutinizes the CAG’s reports to hold the
government accountable for any financial
irregularities.

How many of the statements given above are

correct?

a) Only one

b) Only two

c) All three

d) None of the above

Consider the following statements:

1. NITI Aayog aims to foster competitive
federalism by creating indices and ranking
states.

2. NITI Aayog possess financial authority or
enforcement powers for fiscal transfer to
states.

Which of the statement(s) given above is/are

correct?

a) 1 only

b) 2 only

c¢) Both 1 and 2

d) Neither 1 nor 2
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42. Consider the following statements:

1. Demands for Grants are the proposals made
by the government for the allocation of
funds to  various  ministries and
departments.

2. Estimates Committee in the Parliament
scrutinizes the Demands for Grants for each
ministry.

3. If a Demand for Grant is not approved by
the Parliament, the Finance Minister can
reallocate funds from other grants.

4. The Appropriation Bill seeks to withdraw
money from the Consolidated Fund of India
to meet the approved demands.

How many of the statements given above are

correct?

a) Only one

b) Only two

c) Only three

d) All four

43. With reference to the Speaker of the Lok

Sabha, consider the following statements:

1. The Speaker protects the rights and
privileges of the members of the House.

2. In the event of a tie during a vote in the
House, the Speaker has the authority to
adjourn the session.

3. The work and conduct of the Speaker
cannot be discussed or criticized in the Lok
Sabha except on a substantive motion.

4. The Speaker is the final interpreter of the
Constitution within the House.

How many of the statements given above are

correct?

a) Only one

b) Only two

c) Only three

d) All four
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46.

Consider the following statements:
1. The Chairman of Rajya Sabha can be

removed from office by a resolution passed
by an effective majority in the Rajya Sabha
and agreed to by a simple majority in the
Lok Sabha.

2. When a resolution for the removal of the
Chairman of Rajya Sabha is under
consideration, the Chairman shall preside
over the sitting but shall not be entitled to
vote.

Which of the statement(s) given above is/are

correct?

a) 1 only

b) 2 only

c¢) Both 1 and 2

d) Neither 1 nor 2

Consider the following statements:

1. The right to fair and speedy trial is implicit
in the right to life under Article 21.

2. The right to access public services is an
example of individual liberty.

Which of the statement(s) given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1nor 2

Consider the following statements:

1. The 103rd Constitutional Amendment Act,
2019 introduced 10% reservation for
economically weaker ' sections (EWS) in
civil posts and services.

2. There is no reservation for promotions in
top-level (Class A) civil services.

Which of the statement(s) given above is/are

correct?

a) 1 only

b) 2 only

c¢) Both 1 and 2

d) Neither 1 nor 2
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Consider the following statements:

1. Only the elected members of the State
Legislative Assemblies are eligible to vote
in Rajya Sabha elections.

2. None of the Above (NOTA) option is
applicable in Rajya Sabha elections.

3. Rajya Sabha elections, including by polls,
use the first-past-the-post system.

How many of the statements given above are

correct?

a) Only one

b) Only two

c) All three

d) None of the above

Consider the following statements:
Statement-1: The Rights of Persons with
Disabilities Act, 2016 provides for reservations
of disables in government jobs and incentives
In non-government jobs.

Statement-11: Article 16 of the Indian
Constitution directs the state to make
provisions for securing the right to work,
education, and public assistance in cases of
disablement.

Which one of the following is correct in
respect of the above statements?

a) Both Statement-l1 and Statement-II
correct and Statement-II
explanation for Statement-1I
Both Statement-I and Statement-Il are
correct and Statement-11 is not the correct
explanation for Statement-|I

Statement-1 is correct but Statement-Il is
incorrect

Statement-1 is incorrect but Statement-I1 is
correct

are
is the correct

b)

c)
d)

Consider the following statements:

1. The right to freedom of speech and
expression guaranteed under the
fundamental rights in the Constitution is
not absolute.

2. The Universal Declaration of Human
Rights acknowledges that free speech
cannot be restricted for reasons such as
maintaining public order, morals, and
public health.

Which of the statement(s) given above is/are

correct?

a) 1 only

b) 2 only

c¢) Both 1 and 2

d) Neither 1 nor 2
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92.

Consider the following statements:

1. The Uniform Civil Code is a constitutional
provision.

2. Minerva Mills Case highlighted the need
for a Uniform Civil Code in India by
addressing gender inequality in personal
laws.

Which of the statement(s) given above is/are

correct?

a) 1 only

b) 2 only

c)Both 1and 2

d) Neither 1 nor 2

Consider the following statements with

reference to the Lok Adalats:

1. They are based on Gandhian principles.

2. A Lok Adalat is presided over by a sitting
or a retired judicial officer as Chairman.

3. Appeal against the order of the Lok Adalat
lies at the high courts.

Which of the statements given above are

correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

d)1,2and3

Consider the following statements with

respect to the removal of judges of the High

Courts:

1. A judge of a high court can be removed
from his office by an order of the president.

2. The president can issue the removal order
only after an address by the Parliament has
been presented to him in the same session
for such removal.

3. The address of the parliament must be

supported by a special majority of each
house of parliament.

Which of the statements given above is/are

correct?

a) 1 and 3 only

b)1,2and 3

¢) 1and 2 only

d) 2 only
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95.

Consider the constitutional/

statutory posts:

1. Chairman of a Joint State Public Service
Commission

2. Members of the Finance Commission

3. Chairperson of the National Human Rights
Commission

4. Members
Commission

5. Special Officer for Linguistic Minorities

How many of the above are appointed by the

President?

a) Only two

b) Only three

c) Only four

d) All five

following

of the Central Vigilance

Which of the following statements is not
correct with respect to the 'First Past the
Post’ electoral system?

a) Under this system, every constituency

elects one representative.

Under this system, voter votes for a
candidate.

Under this system, the candidate who wins
the election may not get majority (50%+1)
votes.

Under this system, a political party gets
seats in proportion to the percentage of
votes that it gets.

b)

c)

d)

Consider the following statements regarding

the Indian Councils Act of 1909:

1. Non-official majority in provincial councils
was introduced through the act.

2. Besides separate electorates for Muslims,
the income qualification for Muslim voters
was kept lower than that for Hindus.

3. Apart from Muslims, seats in the Imperial
Legislative Council were reserved for
British capitalists and Landlords.

How many of the above statements are correct?

a) Only one

b) Only two

c) All three

d) None of the above
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Consider the

privileges:

1. Freedom from arrest and detention of
members under civil process during the
continuance of the meeting of the House

2. Members of the House cannot be
compelled to give evidence in courts of
law, relating to the proceedings of the
House

3. Immunity to a member from the proceeding
in any court in respect of anything said the
Parliament

How many of the above parliamentary

privileges are mentioned in the Constitution?

a) Only one

b) Only two

c) All three

d) None of the above

following  parliamentary

Consider the following statements with

reference to the co-operatives:

1. Cooperatives are a concurrent subject under
the constitution and are administered by
respective state governments.

2. The Multi-State Co-operative Societies Act,
of 2002 was enacted to deal with Co-
operative Societies serving the interests of
members in more than one State.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1and 2

d) Neither 1 nor 2

Consider the following statements with

reference -to the Preamble of the Indian

Constitution:

1. It has been amended only once so far.

2. The amendment added the word 'Republic’
to the Preamble.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c¢) Both 1 and 2

d) Neither 1 nor 2
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With reference to the ordinance-making
powers of the President of India, consider
the following statements:

1. Article 143 of the Constitution empowers
the President to promulgate ordinances
during the recess of Parliament.

2. His ordinance-making power is coextensive
with the law-making powers of the
Parliament in terms of the subjects and the
duration.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1 and 2
d) Neither 1 nor 2

'The claims of the members of the
Scheduled Castes and the Scheduled Tribes
shall be taken into consideration,
consistently with the maintenance of
efficiency of administration, in the making
of appointments to services and posts in
connection with the affairs of the Union or a
State'. This provision was provided in the
Indian Constitution under:

a) Part IV

b) Part 111

c) Part XVI

d) Part XVII

Which of the following are the unitary
features of Indian Constitution?

1. Single constitution

2. Emergency Provisions

3. All-India Services

4. Integrated Election Machinery

5. Appointment of Governor

Select the correct answer using the code given
below.

a) 1,2, 3and 4 only

b) 2, 4 and 5 only

¢)1,3,4and5only

d) 1,23 4and5

358 and 359 of the Indian
with which of the

Articles

Constitution deal

following situations?

a) Proclamation of National Emergency under
Article 352

b) Financial emergency under Article 360

c) President's rule under Article 356

d) President's rule under Article 365

©  https://t.me/CREATIVEIAS
creative_kas_academy

21



MISSION DIVYASTRA KAS TEST SERIES -2024

63.

64.

65.

PTBT  BOPRT  Pen IVA  wRad9 3
FNIINEY BRI /R) ShRoPeE
%SFdéﬁ%ﬂﬁ?

L QTR BB, WHITROD  SIRCLRBIZY,

R amm@m
. Ua%cm 2B er,&méojam OTRRTHTN.
3. doﬁa%% mso RS 3EFLIBOD BND)
%eémﬂ@ zﬁm@éoﬁo RN SR,
4. mé WBSCRCNRR)TN.
ONT oo, W
SR,
@) 1 DB 2 TP
W) 1, 2 R 3 IR
2) 1 2B 4 IR
®) 2 DD 4 [wg,

POTZT TOUTRRT WRODY, B2 FENT CIRT TTND

Ty FIOPNRE, PSIT  TNOTOR  AeEOINT

Ty DReHOBOR ATHFOTSINT?

L 3XF, moon, =8, on, wpme BT
5@@5 SHOTT =063 SITIWT &dac;p BT,

2. T DI, WPBS, TS, RO, BLFY, J03

D) B @ *g)éogéw BT,
3. OZE  TOIPONTY méommscoﬂ Rees
RORT BT,

4. FOFD DR oo JORTOONT
BT TR
PN woi%odsmq

A,

R) 2 DB 3 TR,
Q) 2 D) 4 30
R) 1 3B 3 &R
®) 1 2,3 D) 4

;\)CS;\)&%F%?\

WS

@6% F0NT (1955) ©RHY w""ad%d adm&rw%w
20D IENS ée@enm& Toneda:

L e %io:’m 35&
BTN, & BIOD TS WIH DMOTJP AD
5038e0R ﬁd%ﬁaﬁa@z s@mm@%@ﬁ.

2. wg) O08eod TN  FODOTETHONOT
IROW  FeIT  TPTIIZ, IFwon, WBI
ADIOIIow TR BOH05dB0N
BRINRNIT.

Bed BDI  BeINYY 3R/

TOO3RNT /39

Q) 1 TP,

Q) 2 B3,

2) 1 3B 2 F0EH
®) T VRRTBR ¥Y

O0IRT  YOITHRY

AOIRT  GUITHI,

;D030 | FPOIR,

63.

64.

65.

Which of the following are the Fundamental

Duties under part IVA of the Constitution of

India?

1. To develop the spirit of inquiry and reform.

2. To respect the National Flag and the
National Anthem.

3. To strive towards excellence in all spheres
of individual and collective activity.

4. Tocast avote.

Select the correct answer using the code given
below.

a) 1and 2 only

b) 1, 2 and 3 only

c) 1 and 4 only

d) 2 and 4 only

Under the Constitution of India, which of

the following rights and privileges are

conferred on the citizens of India and denied

to aliens?

1. Right against discrimination on grounds of
religion, race, caste, sex, or place of birth

2. Right to freedom of speech and expression,
assembly, association, movement,
residence, and profession

3. Right to serve as a judge in the higher
judiciary

4. Right to contest for membership of the
Parliament and the state legislature

Select the correct answer using the code given

below.

a) 2 and 3 only

b) 2 and 4 only

¢) 1 and 3 only

d)1,2,3and 4

Consider the following statements regarding
the loss of citizenship under the Citizenship
Act (1955):

1. When a person renounces his Indian
citizenship, every minor child of that
person also loses Indian citizenship.

2. When an Indian citizen voluntarily acquires
citizenship of another country, his Indian
citizenship automatically terminates.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1and 2

d) Neither 1 nor 2
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Consider the following statements with
respect to the Supreme Court of India:
1. The Supreme Court of India was

inaugurated with the commencement of the
constitution.

2. After independence, Supreme Court
replaced the British Privy Council as the
highest court of appeal.

Which of the statements given above is/are
correct?

a) 1 only

b) 2 only

c)Both 1and 2

d) Neither 1 nor 2

Who among the following can enjoy the
privileges of the state legislature?

1. Governor

2. Advocate-general of the state

3. State ministers

Select the correct answer using the code given
below.

a) 1 and 2 only

b) 3 only

c) 2 and 3 only

d)1,2and 3

Consider the following statements with
respect to the jurisdiction of the Supreme
Court of India:

1. The supreme court has the discretion to
grant special leave to appeal from a
judgment or order of any non-military
Indian court or tribunal.

2. The supreme court may refuse to tender its
advice on any question of law or fact of
public importance as referred by the
president.

3. Supreme court is not bound by its previous
decision and can depart from it in the
interest of justice or community welfare.

Which of the statements given above are

correct?

a) 1 and 3 only

b) 2 and 3 only

¢) 1and 2 only

d)1,2and3
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Which of the following states are covered
under the Provisions of the Panchayats
(Extension to the Scheduled Areas) Act?

1. Andhra Pradesh

2. Maharashtra

3. Madhya Pradesh
4. Tamil Nadu

5. Karnataka
Select the correct answer using the code given

below.

a) 1, 2 and 4 only
b) 3, 4 and 5 only
¢) 1, 2 and 3 only
d) 1,2,3and 4 only

Consider the following statements with
reference to the Leader of the Opposition
(LoP):

1. The office of the LoP is a constitutional
office.

2. The leader of the largest opposition party
having not less than one-tenth seats of the
total strength of the House is recognized as
the LoP in that house.

3. The LoP is also entitled to the salary,
allowances, and other facilities equivalent
to that of a cabinet minister.

Which of the statements given above is/are

correct?

a) 2 and 3 only

b) 1 only

c) 3only

d)1,2and 3

Consider the following statements:
1. Governor appoints the judges of the

concerned state high court after
consultation with the President.

2. The appointment, posting and promotion of
district judges in a state are made by the
governor of the state in consultation with
the high court.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2
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Which of the following are the compulsory
provisions under the 73rd amendment?

1. Three-tier system

2. Constitution of Gram Sabha

3. Reservation of seats for women

4. Granting financial powers to the panchayats
5. Representation of MPs in local bodies

Select the correct answer using the code given
below.

a) 1, 2 and 3 only

b) 1,2, 3 and 4 only

¢) 1, 3,4and5only

d) 2, 4 and 5 only

Without seeking the permission of the
house, a member of a state legislature can be
absent from all its meeting for a maximum
period of

a) Fifteen days

b) Thirty days

c) Forty days

d) Sixty days

On the recommendation of which of the

following committees a permanent Inter-

State Council was set up under Article 2637

a) First Administrative Reforms Commission
(1966)

b) Rajamannar Committee (1969)

c¢) Sarkaria Commission (1983)

d) National Commission to Review
Working of the Constitution (2000)

the

Under which of the following special
conditions, the Parliament can legislate on
subjects included in the State List?

1. In the national interest backed by a
resolution of the Rajya Sabha

2. When two or more states request the
parliament

3. To implement international treaties and
agreements.

4. When a model code of conduct has been
implemented due to state legislative
elections

Select the correct answer using the code given

below.

a) 2and 4 only

b) 2, 3, and 4 only

c¢) 1 and 3 only

d) 1, 2, and 3 only
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With reference to the evolution of
Panchayat Raj in India, arrange the
following committees in chronological
order:

1. Ashok Mehta Committee

2. G. V. K Rao Committee

3. Thungon Committee

4. L M Singhvi Committee

Select the correct answer using the code given
below.

a) 2-1-3-4

b) 4-3-2-1

c) 1-2-4-3

d) 3-2-1-4

Consider the following statements regarding

the duration of the panchayats:

1. Panchayat at every level is provided with a
five-year term of office.

2. A fresh election should be conducted every
time a panchayat is prematurely dissolved.

3. A panchayat reconstituted after premature
dissolution does not enjoy the full period of
five years.

Which of the statements given above are

correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1 and 3 only

d)1,2and 3

According to the constitution of India, the
expression ‘district judge’ includes which of
the following judges?

1. Additional district judge

2. Joint district judge

3. Chief judge of a small cause court

4. Chief presidency magistrate

5. Sessions judge

Select the correct answer using the code given
below.

a)1, 2,4 and5only

b) 3and 4 only

c) 1, 2and 5 only

d1,2 3 4and5
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Consider the following statements:
1. Every minister shall have the right to speak

and vote in any committee of the state
legislature.

2. If any question arises whether a matter falls
within the Governor’s discretion or not,
decision of the Governor shall be final.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c)Both 1and 2

d) Neither 1 nor 2

Who administers the oath of office and
secrecy to the Council of Ministers?

a) President

b) Prime Minister

c¢) Chief Justice of India

d) Vice-President

Which of the following are elected by a
system of proportional representation by a
means of the single transferable vote?

1. Members of Lok Sabha

2. Members of Rajya Sabha

3. Members of the state legislative council

4. Vice-President of India

Select the correct answer using the code given

below.

a) 1 and 2 only

b) 1 and 3 only

c) 2, 3and 4 only

d)1,2,3and 4

With reference to the Prime Minister,

consider the following statements:
1. His term of office is not fixed and he holds

office during the pleasure of the President.
2. The salary and allowances are determined
by the President.
3. The death of an incumbent Prime Minister
automatically dissolves the council of
ministers.

Which of the statements given above are
correct?
a) 1 and 2 only

b) 2 and 3 only

¢) 1 and 3 only
d)1,2and3
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Mr. XYZ wants to become a district judge.
What is the minimum age prescribed in the
Constitution of India so that he becomes a
District judge?

a) 21 years

b) 25 years

c) 35years

d) No Minimum age is prescribed in the
Constitution

Consider the following statements regarding

zonal councils:

1. These are advisory bodies that were created
under the provisions of Article 263 of the
Indian Constitution.

2. The Union Home Minister acts as the
chairman of all the zonal councils.

3. There are four zonal councils in total that
covers all 28 states of India.

Which of the statements given above is/are

correct?

a) 1 and 2 only

b) 2 only

c) 3 only

d)1,2and3

With reference to the Vice

President,consider the following statements:

1. The electoral college for his election does
not include the members of the state
legislative assemblies.

2. A formal impeachment is not required for
his removal.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c) Both 1and 2

d) Neither 1 nor 2

Arrange the following officials from higher

to lower rank as per Table of Precedence.

1. Prime Minister

2. Former Presidents

3. Governors of states within their respective
states

4. Cabinet Ministers of the Union

Select the correct answer using the code given

below.

a) 2-1-4-3

b) 1-2-3-4

c) 1-3-2-4

d) 3-1-4-2
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With reference to the Council of Ministers,

consider the following statements:

1. They are collectively responsible to the Lok
Sabha and the Rajya sabha.

2. There is no legal responsibility of a
minister as per the constitution.

3. It is the duty of every minister to stand by
cabinet decisions and support them both
within and outside the Parliament.

Which of the statements given above is/are
correct?

a) 3only

b) 2 and 3 only

c)1,2and3

d) 1 and 3 only

Consider the following statements about the

Deputy Speaker of Lok Sabha:

1. Whenever he is appointed as a member of a
parliamentary committee, he automatically
becomes its chairman.

2. The date of his election is fixed by the
President.

3. He is subordinate to the speaker of Lok

Sabha.
Which of the statements given above is/are
correct?
a) 2 only
b) 1 only
c) 2and 3 only
d) 1 and 3 only

Both houses of the parliament have separate
committees of this kind. This committee
regulates the program and timetable of the
House. It allocates time for the transaction
of legislative and other exercises brought
before the House by the government. The
Lok Sabha committee consists of 15
members including the Speaker as its
chairman. In the Rajya Sabha, it has 11
members including the Chairman as its ex-
officio chairman.

Which of the following parliamentary
committees has been described in the
passage given above?

a) Business Advisory Committee

b) Rules Committee

c) General Purposes Committee

d) Ethics Committee
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Which of the following acts of parliament

provides for the preparation and revision of

electoral rolls for the purpose of elections to

the House of People?

a) Representation of the People Act, 1950

b) Representation of the People Act, 1951

c) Parliament (Prevention of Disqualification)
Act, 1959

d) Presidential and Vice-Presidential elections

Act, 1952

Consider the following statements:
1. Article 1 states India as Bharat which is a

‘Union of States and Union Territories'.

2. The expression of 'Union of India' is wider
in extent than the expression 'Territory of
India'.

Which of the statements given above is/are not

correct?

a) 1 only

b) 2 only

c) Both 1 and 2

d) Neither 1 nor 2

Consider the following statements regarding
the Fundamental Rights:
1. Constitutional remedies are not available if

all the rights are violated by the private
individuals.

2. Some of the Fundamental Rights are not
self-executory.

Which of the statements given above is/are
correct?

a) 1 only

b) 2 only

¢) Both 1 and 2

d) Neither 1.and 2

Consider the following words/phrases:

1. Universal Adult Franchise

2. Right to Work

3. Union Cabinet

How many of the above words/phrases do not
find mention in the Constitution of India?

a) Only one

b) Only two

c) All three

d) None of the above
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Which of the following are features of the
federal government?

1. Written Constitution

2. Independent Judiciary

3. Dual sovereignty

Select the correct answer using the code given
below.

a) 1 and 2 only

b) 2 and 3 only

c) 3only

d)1,2and 3

Which of the statements given below is not
correct regarding the procedure for an
amendment to the Constitution?

a) A private member can propose
amendment bill to the constitution.
The introduction of a constitution
amendment bill does not require prior
permission of the president.

The constitutional amendment bill can be
discussed in a joint sitting of two houses for
discussion.

The President must give assent to
constitutional amendment bill passed by the
parliament.

According to Dr. B.R. Ambedkar which of
the following is a ‘novel feature’ of the
Indian Constitution?

a) Right to Constitutional Remedies

b) Provisions of National Emergency

c) Directive Principles of State Policy

d) Indestructible Nature of Indian Federation

an

b)

c)

d)

Consider the following statements :
Statement-1: There have been no referendums
in India since independence.

Statement-11: Constitution of India does not
have a specific provision for or against the
referendum.

Which ‘one of the following is correct in
respect of the above statements?

a) Both Statement-l1 and Statement-Il are
correct and Statement-11 is the correct
explanation for Statement-|

Both Statement-l1 and Statement-1l1 are
correct and Statement-11 is not the correct
explanation for Statement-|

Statement-1 is correct but Statement-11 is
incorrect

Statement-1 is incorrect but Statement-11 is
correct

b)

c)
d)
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With reference to the Constitution of India,

consider the following statements:

1. The original Constitution adopted on
November 26, 1949, contained Seven
fundamental rights.

2. The objectives resolution was unanimously
adopted by the Constituent Assembly on
January 22, 1947.

3. The Constitution Assembly of India was
dissolved with the commencement of the
Constitution of India.

How many of the statements given above are

correct?

a) Only one

b) Only two

c) All three

d) None of the above

With reference to British and Indian
Parliamentary systems, consider the

following statements:

1. British parliamentary system is based on
the doctrine of the sovereignty of
Parliament.

2. Unlike Britain, in India, a person who is not
a member of Parliament can also be
appointed as minister.

3. Unlike Britain, in India, ministers are
required to countersign the official acts of
the Head of the State.

How many statements given above are correct?

a) Only one

b) Only two

c) All three

d) None of the above

Consider the following statements about

the discretionary powers of the Governor:

1. The Governor can act without the aid and
advice of the Council of Ministers in
certain situations.

2. The Governor’s discretionary powers are
clearly defined in the Constitution of India.

Which of the statements given above is/are

correct?

a) 1 only

b) 2 only

c¢) Both 1 and 2

d) Neither 1 nor 2
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